BIDS AND AWARDS COMMITTEE
Provincial Capitol, Estaka, Dipolog City
Email add: bidsandawards22@gmail.com

March 20, 2024

INVITATION TO BID

The Provincial Government of Zamboanga del Norte through the Bids and Awards Committee (BAC) is inviting
interested parties/ bidders to bid for the following contract:

Contract ID: PR#200(01)24-03-055(A)
Contract Name: Procurement of Hardware and Construction Supplies
Location/Purpose: Maintenance of Provincial Capitol Building, Zamboanga del Norte Convention and Exhibition

Center and Zamboanga del Norte Cultural and Sports Center.

Approved Budget for the | P1,675,689.00

Contract (ABC): (inclusive of all applicable taxes)

® Bidders/ contractors must have an expertise in undertaking a similar project, completed at least two similar contracts
which the equivalent amount is at least 25% of the proposed project for bidding within the last three years.

® Bidders are inform that the delivery termis 30 calendar days upon receipt of Notice to Proceed.

® Bidders/ Contractors shall submit their one (1) copy sealed envelope containing their technical and financial
documents

® Documents submitted must be in accordance with the checklist provided and must have a corresponding label or
name plates.

® The eligibility check/ screening as well as the Preliminary Examination of Bids shall use the non- discretionary "pass/
fail" criteria.

® Post qualification of the Lowest/ Single bids shall be conducted.

® All particulars relative to Eligibility Statement and Screening, Bid Security, Performance Security, Evaluation of
Bids, Post Qualification and Award of the Contract shall be governed by the pertinent provision of RA 9184 and its
Implementing Rules and Regulations (IRR).

® All bids must be accompanied by a bid security in any of the acceptable forms in the amount stated in ITB Clause 14.

® Bidding is restricted to Filipino Citizens/ sole proprietorships, partnerships or organizations with at least sixty percent

(60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of
a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No.
5183.

The schedules of activities are listed as follows:

BAC ACTIVITIES SCHEDULE

Advertisement / Posting March 21 - 27, 2024

Pre-bid Conference April 01, 2024 @ 09:00AM

Availability and Issuance of Bidding Documents March 21, 2024 — April 17, 2024 @ 08:30AM

Deadline for the Submission of Bids April 17, 2024 @ 08:30 AM

Bid Opening and Evaluation April 17, 2024 @ 09:00AM

® Payment for bidding documents is a non- refundable amount of Five Thousand Pesos Only (Php5,000.00) payable
to the Office of the Provincial Treasurer, Provincial Capitol Building, Dipolog City.

® Prospective Bidders may obtain further information from the Office of the Bids and Awards Committee, Provincial
Capitol Building during office hours @ 8:00AM - 5:00PM.

® Bids must be duly received by the BAC Secretariat through manual submission at the address stated above.

® The Provincial Government of Zamboanga del Norte reserves the right to reject any and all bids, declare a failure of
bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the
2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

® Bidding Documents will be electronically uploaded to the Philgeps website of the Provincial Office of

Zamboanga del Norte at_bidsandawards22@gmail.com.

ATTY. RAFAEL R. OSABEL, JR.
BAC Chairman


mailto:bidsandawards22@gmail.com

Annex A:

Procurement of Hardware and Construction Supplies

PR# 200(01)24-03-055(A)
ABC: P1,675,689.00

. 15 sets Aircon Outlet

. 5 pc Angle Valve, Stainless 2 way

.50 Igth Angle Bar ¥ax 1 x 1

. 10 Igth Angle Bar 5mm x 1 %2

. 7 pcs Angle Valve 1 way

. 17 pc Angle Valve %2 x %

. 7 pcs Angle Valve 2 way

. 16 pcs Baby Roller 4”

. 15 sets Bidet

10. 10 gals Blackboard Slating Paint

11. 3 gals Body Filler — Easy Tite

12. 70 pcs Bolt w/ Nut & Washer Y2 x 1 %
13. 50 pcs Bolt w/ Nut, Washer & lockwasher 3/8 x 1
14. 30 pcs Bolt with Nut 3/8 x 1

15. 3 pc Bottle Trap 1 ¥4

16. 10 pcs Brass Ball Valve 1 Y4

17. 15 pcs Brass Ball Valve 1”

18. 10 pcs Brass Foot Valve 1 %"

19. 10 pcs Brass Swing Valve 1”

20. 8 pcs Brass Swing Valve 1 %

21. 1 set Ceiling Lamps

22. 60 bags Cement

23. 15 sets Closet Tank Bolt-plastic

24. 15 pcs Compression Coupling 32mm x 20mm
25. 10 pcs Compression Elbow %2 x Y2

26. 30 pcs Compression Elbow 32mm

27. 5 pc Compression Female Tee 32mm
28. 8 pcs Compression Male Adaptor %2
29. 8 pcs Compression Male Adaptor 32mm
30. 6 pcs Compression Male Elbow 32mm
31. 8 pcs Compression Tee ¥2 x %2

32. 8 pcs Compression Tee 32mm

33. 15 kilo Concrete Nail #1

34. 1 box Concrete Nail #3

35. 1 box Concrete Nail #4

36. 2 roll Copper Tube ¥4

37. 2 roll Copper Tube 3/8

38. 2 roll Copper Tube 5/8

39. 60 shts Corrugated Sheets .35mm 12"
40. 58 shts Corrugated Sheets .40mm x 12"
41. 48 Igth C-Purlins 1.5mm x 2 x 3

42. 30 pcs Cut Off Wheel 14~

43. 113 pcs Cutting Disc 47

44. 20 kls CWN #2”

45. 50 kls CWN #3”

46. 50 kls CWN #4”

47. 30 pcs Cylindrical Hinges 5/8

48. 10 pc Diamond Disc 4”

49. 24 sets Door Knob

50. 20 pcs Drawer Handle #4

51. 5 pc Drill Bit

52. 5 pcs Drill Bit 3/8

53. 5 pc Drill Bit 9/16

54. 4 Itr Epoxy

55. 14 pcs Expansion Bolt %2

56. 30 pcs Expansion Bolt 3/8

57. 10 pcs Faucet

58. 15 pc Faucet-Ordinary

59. 8 pcs Female Adaptor ¥2

60. 10 kis Finishing Nails 1 /2"

O ~NO O WN -



61. 10 ks Finishing nails 2~

62. 1 pc Fire Gauge 100 PSI

63. 8 Igth Flat Bar 1/4x 1 %2

64. 20 gals Flat Latex White

65. 10 pcs Flexible Hose %2 x %2

66. 10 pcs Flexible Hose, Stainless %2 x %2 x 18
67. 3 pc Float Switch

68. 2 pc Float Valve 1”7

69. 20 pcs Flourescent Starter

70. 16 pcs Flourescent Tube 20W

71. 10 btls Flushing 141B

72. 5 tank Freon #22

73.4pc G.I Cross Tee 1”

74. 4 pcs G.1. Plug 1”7

75. 4 pcs G.1. Tee 1”

76. 3 pc Gate Valve ¥2

77. 5 pcs gate Valve 2" Brass

78. 3 pc Gl Bell Reducer 1 x 1 Y4

79. 12 pcs Gl Bushing Reducer 1 ¥4 x 1
80. 4 pcs Gl Bushing Reducer 1 Y4 x ¥4
81. 4 pcs Gl Bushing Reducer 1/ ¥4 x 2
82. 5 pcs GI Bushing Reducer Y x 1”7
83. 3 pes GI Coupling 2

84. 3 pes GI Coupling 1”7

85. 8 pcs Gl Elbow Y4

86. 7 pcs GI Nipple 1 x 2”

87. 5 pes GI Nipple 1 x 37

88. 8 pcs Gl Nipple ¥ x 2

89. 5 pcs GI Nipple % x 3

90. 6 pcs Gl Nipple ¥4 x 4

91. 4 pcs GI Plug 1”

92. 4 pcs Gl Plug %

93. 14 shts Gl Steel Matting

94. 2 lgth GI Supreme Pipe 2~ — Sched-60
95. 2 Igth GI Supreme Pipe 1- Sched-60
96. 5 pcs Gl Tee 1”

97. 4 pc Gl Tee ¥

98. 50 pcs Hacksaw Blade

99. 18 shts Hardiflex 3/16 x 4 x 8

100. 3 rolls HDPE Pipe 32mm

101. 2 rolls HDPE Pipe 32mm SDR11
102. 132 pcs Hexagonal Nut 5/8

103. 15 pairs Hinges 4 x 4

104. 3 pc Kitchen Sink Stainless

105. 5 gals Lacquer Putty — White
106. 20 gals Lacquer Thinner

107. 30 pcs Lavatory Faucet

108. 8 pcs Lavatory Flexible Hose Y2 x 12
109. 8 sets Lavatory P-Trap 1 %

110. 15 pcs Lead Wire Fastener

111. 100 sets LED Downlight 12W
112. 9 gals Liquid Tile Cast

113. 9 gals Liquid Tile Gloss White
114. 15 gals Liquid Tile Primer

115. 8 gals Liquid Tile Reducer

116. 10 gals Liquid Tile Semi Gloss White
117. 40 pcs Lock Washer 3/8

118. 20 pcs Male Plug

119. 10 tank Map Gas

120. 20 shts Marine Plywood % x 4 x 8
121. 3 pc Masonry Bit 13mm

122. 3 pc Masonry Bit 16mm

123. 50 pcs Metal Screw Y2 x 1 %2

124. 10 packs Mighty Gasket

125. 20 pcs Mini Roller 4”

126. 15 gals Morta Flex

127. 15 pcs Outlet Surface Type

128. 10 pcs Padlock 50mm

129. 4 pcs Padlock 65mm

130. 5 pcs Paint Brush 1 %"



131. 5 pcs Paint Brush 1”

132. 25 pcs Paint Brush 27

133. 5 pcs Paint Brush 3”

134. 10 gals Paint Thinner

135. 10 pcs PE Compression Elbow 72"

136. 15 pcs PE Compression Elbow 32mm
137. 12 pcs PE Compression Male Adaptor 1~
138. 15 pcs PE Compression Male Adaptor 1/2”
139. 15 pcs PE Compression Male Adaptor 32mm
140. 10 pcs PE Compression Tee 1”

141. 3 pc PE Compression Tee Reducer 1 x %4~
142. 20 Igth Plain Round Bar 10mm x 6m
143. 15 shts Plain Sheet .4mm x 8

144. 140 pcs Plain Washer 5/8

145. 14 pcs Plastic Matting 1 x 3 ft

146. 20 pcs PPR Clip %"

147. 70 pcs PPR Clip 1~

148. 5 pcs PPR Coupling %~

149. 5 pcs PPR Coupling 1 %"

150. 5 pcs PPR Coupling Reducer % x 72"
151. 20 pcs PPR Elbow 1 %~

152. 25 pcs PPR Elbow 1”

153. 25 pcs PPR Elbow 72"

154. 5 pcs PPR Elbow %"

155. 10 pcs PPR Female Adaptor

156. 5 pc PPR Female Adaptor 1 ¥4

157. 25 pcs PPR Female Adaptor 2"

158. 10 pcs PPR Female Adaptor 1~

159. 10 pcs PPR Female Elbow Adaptor 1 %~
160. 6 pcs PPR Female Tee 1 7"

161. 5 pc PPR Female Tee 1”

162. 15 pcs PPR Female Tee 2"

163. 5 pcs PPR Gate Valve %"

164. 7 pcs PPR Male Adaptor 1 %" (plain)
165. 20 pcs PPR Male Adaptor 1 4" (union)
166. 7 pcs PPR Male Adaptor 1

167. 20 pcs PPR Male Adaptor 1~ union type
168. 15 pcs PPR Male Adaptor /2"

169. 5 pcs PPR Male Adaptor 1/2” union type
170. 15 Igth PPR Pipe 1 %"

171. 7 Igth PPR Pipe 1~

172. 15 Igth PPR Pipe 7;”

173. 5 Igth PPR Pipe %"

174. 4 pcs PPR Pipe Cutter

175. 15 pcs PPR Tee 1 %~

176. 15 pcs PPR Tee 1”

177. 15 pcs PPR Tee ¥~

178. 5 pcs PPR Tee %"

179. 25 pcs PPR Threaded Elbow 2"

180. 5 pc PPR Union 1 1/4

181. 10 pcs PPR Union 1”

182. 15 pcs PPR Union Patente %2

183. 15 pcs PPR Union w/ Adaptor %>

184. 10 pcs Pressure Gauge %2 100PSI

185. 3 pc Pressure gauge 100PSI

186. 8 pc Pressure Switch

187. 5 gal Primer Red Oxide

188. 5 pc PVC Compression Coupling 32mm x 25mm
189. 15 pcs PVC Coupling %2 Blue

190. 2 sets PVC Doorknob 60 x 210

191. 15 pcs PVC Elbow %2

192. 15 pcs PVC Female Adaptor 72"

193. 15 pcs PVC Gray Coupling 1~

194. 15 pcs PVC Gray Coupling %~

195. 15 pcs PVC Gray Elbow 1 x 90

196. 15 pcs PVC Elbow % x 90

197. 15 pcs PVC Gray male Adaptor

198. 10 lgth PVC Gray Pipe 1~

199. 10 Igth PVC Gray Pipe 3/4”

200. 15 pcs PVC Gray Union %"



201. 15 pcs PVC Male Adaptor 1 “

202. 15 Igth PVC Pipe Blue 72~

203. 10 pcs PVC Sanitary Elbow 27 x 45”

204. 15 pcs PVC Tee 2~

205. 15 pcs PVC Threaded Elbow "

206. 15 pcs PVC Union 17

207. 30 pcs Receptacle 2”

208. 5 pcs Raincoat (jacket type)

209. 5 pcs Riveter

210. 5 pcs Roller Brush 6”

211. 10 pair Rubber Boots

212. 10 pairs Rubber Gloves

213. 15 pcs Rubbering

214. 50 shts Sand Paper 120

215. 15 ft Sand paper 80

216. 5 pcs Stainless Elbow /2 ”

217. 5 pc Stainless Elbow 1

218. 5 pcs Sealant Cement Force

219. 3 pc Silicon Gun

220. 3 pc Silicon Sealant

221. 5 can Solvent 200cc

222. 15 pcs Stainless Flange %

223. 10 pcs Stainless Flexi Hose 1 x 7> x 18”

224. 25 pcs Stainless Flexible Hose Y2 x %2

225. 5 pcs Stainless Nipple % x 2

226. 10 pcs Stainless Nipple 1 x 2

227. 5 pc Stainless Nipple 1 x 4

228. 25 pcs Stainless Rod 3/32

229. 9 pcs Stainless Sink

230. 5 pcs Stainless Tee 72"

231. 5 pcs Suction Pump

232. 30 pcs Switch Box

233. 5 pcs Tailpiece Strainer

234. 15 pcs Tank Fittings

235. 25 pcs Tank Fittings — push botton type

236. 70 rolls Tapelon Tape 1"

237. 15 pcs Tapelon Tape ¥%

238. 10 rolls Tapelon Tape 2"

239. 550 pcs Teckscrew 2 %

240. 1 box Teckscrew 450/1

241. 5 pcs Teckscrew Adaptor

242. 20 boxes THHN 3.5mm

243. 8 box THHN 5.5mm2

244. 10 pcs Toilet Bowl Flexible Hose 18”

245. 20 sets Toilet Bowl Floor fastener w/ Bowl Wax

246. 50 pcs Tox #8

247. 30 pcs Urinal — Flush Valve heavy duty

248. 15 pcs Urinal Bracket

249. 6 sets Urinal with Fittings

250. 7 Itr Vulcaseal

251. 10 pcs Wall Faucet Stainless

252. 3 pcs Wall Gooseneck Faucet

253. 8 sets Water Closet with Fittings

254. 30 kls Welding Rod 1/8

255. 10 kls Welding Rod 3/32

256. 8 boxes Welding Rod 6012

257. 4 gal Zinchromate Epoxy Primer
***Nothing Follows***



